IT Quiz MCQ PDF

1. What is a workspace?

(A) The working area of windows move maker is called workspace
(B) The working area of move maker is called workspace

(C) The windows move maker is called workspace

(D) The movie maker is called workspace

2. How many tracks on the timeline view?
(A) 6
(B) 4
(C)5
(D) 7

3. What will if you click on workspace’s tasks button below the menu bar?
(A) It will open new task

(B) It will perform that particular task

(C) It will close that particular task

(D) It will save that particular task

4. Audio clips can only be added in the time line view?
(A) True

(B) False

(C) Both A& B

(D) None of these

5. What is time line view?

(A) View is divided into several tracks, including audio, transition and overlay
tracks

(B) View is divided into several files

(C) View is divided into several tracks and videos

(D) All above

6. What are steps to split video or audio?

(A) In the content pane, click the video or audio clip you want to split
(B) Unger the monitor, move the slider to where you want to split
(C) Click the split button on the monitor

(D) All above

7. What are the steps to clear the trim points?

(A) Toggle to the Timeline window

(B) Select the image, video, audio or music clip that you desire to manupulate
(C) On the clip menu, click clear trim points
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(D) All above

8. Write steps to combine a split video clip?

(A) Right click on the video, choose-> play timeline when video starts playing
let the blue line move in the forward direction

(B) Use clip, split, output will appears

(C) Save the picture

(D) All above

9. The first WAN to be designed and developed was the private network?
(A) Storage area network

(B) Personal area network

(C) Arpanet

(D) Enterprise private network

10. A unit of measuring data transmission speed is called?
(A) Baud

(B) Kilobit

(C) Megabit

(D) Gigabit

11. Father of “C” programming language?
(A) Thomas Kurtz

(B) Dennis Ritchie

(C) James Gosling

(D) Bjarne Stroustrup

12. Which is the lowest language of computer?
(A) Basic

(B) COBOL

(C)C

(D) Machine language

13. What is the full form of UNIVAC?
(A) Universal automatic counter

(B) Unique automatic computer

(C) Universal automatic computer
(D) All above

14. Information can be store or retrieve from memory location through its?
(A) Address
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(B) Index
(C) Value
(D) Input

15. The basic unit of a worksheet in which data is enter in excel is called?
(A) Box

(B) Range

(C) Column

(D) Cell

16. What is the use of floppy disk?
(A) To make print information

(B) To store information

(C) To erase the computer screen
(D) None of these

17. One nibble is equal to?
(A) 12 bits

(B) 8 bits

(C) 4 bits

(D) 16 bits

18. What is the full form of NOS?
(A) Network operating system
(B) Non operating system

(C) Non operating software

(D) Non open software

19. The crime of stealing information from others computers or websites is
called?

(A) Thieving data

(B) Hacking

(C) Digital thief

(D) Spooling

20. A program that performs a useful task while simultaneously allowing
destructive acts is a?

(A) Virus

(B) Worm

(C) Macro virus

(D) Trojan horse
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21. Initially computer was invented for?

(A) For entertainment purpose

(B) To perform non mathematical task

(C) For non numerical task

(D) To perform arithmetic calculations at a very fast speed

22. A computer system is a combination of how many elements?
(A) 5
(B) 7
(C) 4
(D) 8

23. Computer education can be divided into how many parts in India?
(A) North India

(B) South India

(C) East India

(D) Both A & B

24. What is the purpose of title bar in MS word?

(A) To display name of current document open in word

(B) To display name of software

(C) To display the title of software along with open document
(D) None of these

25. How can we save a document in MS word?
(A) Ctrln
(B) Ctrl s
(C) Ctrlo
(D) Ctrl u

26. What is micro teaching training methodology?
(A) Help the teachers to master the teaching skills
(B) Help the teachers to manage their work

(C) Help the teachers ease their work

(D) All above

27. What are two types of HTML tags?
(A) Paired tags

(B) Singular tags

(C) Both A& B

DAILY HIMACHAL GK



IT Quiz MCQ PDF

(D) None of these

28. What is full form of CAD?
(A) Compute aided design
(B) Computer aided design
(C) Computer added design
(D) Count added department

29. In which manufacturing field Computer Aided Manufacturing (CAM) is
used?

(A) Food production

(B) Metal manufacturing

(C) Clothing and textiles manufacturing

(D) Engineering manufacturing

30. Which generation languages are high level languages in computer?
(A) First generation

(B) Second generation

(C) Third & fourth generation

(D) All the above

31. Which of the following is a characteristic of Web 2.0 application?
(A) it use only static pages

(B) It is focused on the ability for people to collaborate online

(C) It is focused on the ability for people to collaborate and share online
information

(D) Multiple users can use Web2.0 at a time

32. Computer tools like word, excel and power point are the products of which
company?

(A) Microsoft

(B) Apple

(C) Google

(D) Intel

33. If an integer need two bytes to store then maximum value of a singed
integer is?
(A) 21° -1
B)2% -1
(C)2*-1
(D)2 -1
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34. The maximum number of temporary variables needs to swap the content
of the variable is?

(A) 4

(B) O

(C) 2

(D)1

35. What will the output of pintf(“%d, printf(xyz)”);?
(A) xyz3

(B) Syntax error

(C) Program will terminate

(D) None of these

36. FAQ id stands for?

(A) Favorite answer question
(B) Frequently answer question
(C) Frequently asked questions
(D) All the above

37. What is the purpose to design an antivirus program for computers?
(A) Scan device only

(B) Scan device, identify and eliminate virus

(C) Identify virus and eliminate

(D) Eliminate virus only

38. Which of the following operation will not produce 1, if the input bits are 1
and 17?

(A) OR operator

(B) AND operator

(C) NAND operator

(D) Exclusive nor

39. Speed of internet is measured in?
(A) DPI

(B) Mbps

(C) GHz

(D) Gbps

40. Which of the following is not a type of printer?
(A) Inkjet
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(B) 3-d
(C) LaserJet
(D) Landscape

41. Super computers are used in which of the following applications?
(A) Education

(B) Research

(C) CAM

(D) Weather forecasting

42. How many phases are there in computer aided manufacturing?
(A) Two

(B) Three

(C) Four

(D) Five

43. CNC stands for?

(A) Common numerical control

(B) Computer nitrogen control

(C) Computer numerical control

(D) Computer numerical calculations

44. Which part of CNC is used to hold the material?
(A) Vice

(B) Cutter

(C) Chuck

(D) Motor

45. Which is not a computer controlled heath care machine?
(A) Peacemaker

(B) CT scan

(C) Thermometer

(D) Cat scan

46. What are used with super computers in weather forecasting?
(A) Computer program

(B) Satellites

(C) Space shuttle

(D) All the above

47. Computers are used to study of oceans and ?
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(A) Earth study
(B) Case study
(C) Cohort study
(D) Space study

48. Is used to control the heart beat of patient?
(A) Pacemaker

(B) Suction device

(C) Stethoscope

(D) Sphygmomanometer

49. A set name can be represented as?

(A) Two - dimensional array of characters

(B) One - dimensional array string

(C) One - dimensional array pointers to characters
(D) All the above

50. If the word size is 16 bit then ~0 x ¢5 will be?
(A) O x 3a

(B) Oxff3a

(C) Ox5c

(D) None of the above

51. Which of this class is not including in java language?
(A) Integer

(B) Array

(C) Class

(D) Function

52. Which of the following is not a java feature?
(A) Dynamic

(B) Object-oriented

(C) Architecture neutral

(D) Use of pointers

53. The process of converting a simple data type into a class is called?
(A) Type wrapping

(B) Typecasting

(C) Type define

(D) Type conversion
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54. Which of the following is used to find and fix bugs in the java program?
(A) JRE
(B) JVM
(C) JBD
(D) JDK

55. Which is a superclass of wrappers double and integers?
(A) Double

(B) Long

(C) Float

(D) Number

56. Which of the following is a valid char declaration?
(A) char xy = ‘/uxyz’;

(B) char xy = ‘xyz’;

(C) char xy = \uxyz;

(D) char xy = \uxyz’;

57. What is the return of the hashCode() in the object class?
(A) Int

(B) Float

(C) Char

(D) Double

58. Which method is used to check for infinitely large and small values in
java?

(A) isSNULL()

(B) isNaN()

(C) islInfinite()

(D) None of these

59. Which package stores all simple data types in java?
(A) java package

(B) util

(C) java

(D) Lang

60. What will be the output of the expression float x = 35/07?

(A) O
(B) Infinity
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(C) Not a number
(D) All the above

61. What do QA and QC stand for?

(A) Quality adjustment and Quality control
(B) Quantity assurance and Quantity control
(C) Quality assurance and Quality control
(D) Quality assurance and Quantity control

62. Which method of the class is used to determine the name o a class
represented by the class as a string?

(A) getName()

(B) getClass()

(C) toString()

(D) None of these

63. Which of the following option involves materials and component control?
(A) Feedback

(B) Quality control

(C) Standards of development

(D) All the above

64. Which requirements are the foundation from which is measured?
(A) Programmers

(B) Coding

(C) Hardware

(D) Software

65. In which process, a local variable has the same name as one of the
instant variables?

(A) Variable shadowing

(B) Abstraction

(C) Multi- threading

(D) Serialization

66. Which of the following is true about the anonymous inner class?
(A) It has only method

(B) It has a fix class name

(C) It has no class name

(D) Objects can’t be created
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67. What is the first step of QA?
(A) Service

(B) Identification of standards
(C) Development of standards
(D) Material control

68. An interface with no methods is known as?
(A) CharSequence interface

(B) Runnable interface

(C) Abstract interface

(D) Marker interface

69. What is the meaning of chained exceptions in Java?

(A) An exception caused by other exceptions

(B) Exception occurred by the virtual machine error

(C) Exception occurred in chains in the debugging information
(D) All the above

70. Which of the following is not included in external failure cost?
(A) Helpline support

(B) Complaint resolution

(C) Testing

(D) Work warranty

71. Software quality assurance consists of the auditing and reporting functions
of management?

(A) False

(B) True

72. In java, jar stands for?
(A) Java ARchiv

(B) Java Archive Runner

(C) Java ARchive

(D) Java Application Runner

73. What is the use of \w in regex?
(A) Use for whitespace character

(B) Use for non whitespace character
(C) Use of a non word character

(D) Used for a word character
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74. What will the initial capacity of the ArrayList in given statement “ArrayList
list = new ArrayList();"?

(A) 10

(B) O

(©5

(D) 2

75. Which from following class is must in java?
(A) Java.lang.integer

(B) Java.lang.String

(C) Java.lang.StringBuilder

(D) None of these

76. Which of the following is an example of QA?
(A) Quality

(B) Verification

(C) Validation

(D) Testing

77. If a computer provides database services to others, then it will be called
as?

(A) FTP server

(B) Client server

(C) Web server

(D) Database server

78. Tally software is developed by?
(A) Tally solutions

(B) Vedika solution

(C) Coral software

(D) None of these

79. If there are multiple recycle bin for a hard disk then you can___ ?
(A) Select your own recycle bin

(B) Can set different size for each recycle bin

(C) Set any one of them default bin

(D) All the above

80. If system is displaying wrong date and time, you can reset by using which

option?
(A) Date and time option
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(B) Calendar
(C) Control panel
(D) None of these

81. What enables in MS word to send the same letters to different persons?
(A) Mail merge

(B) Templates

(C) Macros

(D) All the above

82. In MS word the ability to combine name and address with a standard
document is called?

(A) Database merging

(B) Database Management

(C) Mail merge

(D) Form letters

83. In power point which tab is not available on left panel when a presentation
Is open?

(A) Slides

(B) Notes

(C) Outlines

(D) None of these

84. In MS Excel which of the following format you can decided to apply or not
in AutoFormat dialog box?

(A) Font format

(B) Font Size

(C) Number Format

(D) All of above

85. If in an operating system there is multiple recycle bins for hard disk?
(A) Use any of them s default recycle bin

(B) Set different size for each recycle bin

(C) User can choose which recycle bin to use to store deleted files

(D) All of above

86. User should save computer from?
(A) Viruses

(B) Worms

(C) Time bombs
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(D) All of the above

87. In how many generations computer can be classified?
(A) 5
(B) 4
(C) 6
(D)3

88. To tell Excel that we are entering a formula in cell , we must begin with an
operator such as?

(A) +

(B) %

(C) =

(D) #

89. Which option is used in tally to make changes in create company?
(A) Alter

(B) Select company

(C) Open company

(D) Shut company

90. Which option is used in tally to close opened company?
(A) Alter

(B) Shut company

(C) Open company

(D) None of these

91. Which option is selected from company info menu to divide company data
into two financial years?

(A) Alter

(B) New company

(C) Split company data

(D) Change tally vault

92. Fifth generation computers are based on?
(A) Artificial intelligence

(B) High level programming

(C) System knowledge

(D) All of the above

93. Microprocessor was introduced in which generation of computer?
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(A) First generation
(B) Fourth generation
(C) Second generation
(D) Third generation

94. Second generation computers are made of?
(A) Transistor

(B) Large scale integration (LSI)

(C) Very large scale integration (VLSI)

(D) None of these

95. World wide web is being standard by?
(A) World wide standrad

(B) World wide web

(C) Worldwide corporation

(D) W3C

96. A Microsoft windows is an?
(A) Documents management
(B) Database program

(C) Operating system

(D) None of these

97. Which of following is not application software?
(A) Power point

(B) Window NT

(C) Page maker

(D) Photoshop

98. Which of the following program is used to compress large size files into
smaller size file?

(A) WinZip

(B) WinWarp

(C) WinShrink

(D) WinStyle

99. A word processor would mostly likely be used to do?
(A) Do a computer search in media

(B) Type a biography

(C) Maintain inventory

(D) All the above
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100. In MS word which can be used for quick access to commonly used to
command and tools?

(A) Title bar

(B) Status bar

(C) Menu bar

(D) Tool bar
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Answer

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15

16 17 18 19 20 21 22 23 24 25 26 27 28 29 30

31 32 33 34 35 36 37 38 39 40 41 42 43 44 45

46 47 48 49 50 51 52 53 54 55 56 57 58 59 60

61 62 63 64 65 66 67 68 69 /0 71 72 73 74 75

/6 77 78 79 80 81 82 83 84 8 86 87 88 89 90

B b A B C A C B D B D A C A B

91 92 93 94 95 96 97 98 99 100
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